—0,35[-u ]
—0,35Ly-u- ]2
=log +0,17

lin[Empfindlichkeit] log

logVo = —0,35[iy—Uss7] log

log =-0,350)-u ]%-1,17log

Vo, ] log'/'-=log// -0,13
Va La u\=(A\-550)/50

1.0 L:M:S  Adaptation

4
/ : =16:8:1 L&M: 557

1
/ 1 2
1 Lpo=095 Lg=1.34
1
1

/ Vo=10 Va=10

7 Mg=0.95 Ma=0.67

2L 545 570 N\ $0=002 Sa =00
1 U - s o u -3

4

lin[Sattigung] log

logVo = —0,35[—Uss7]? log

log =-0,35U)-u ]%-1,17log +0,17
Ng 10g/ =log' +0,13
La Satigung V

L:M:S W’aptatlon

=16:8:1 L{M: 557

500 550 600rg/nm 700xc 400

lin[Empfindlichkeit] log
logVo = —0,350iy—Uss7]? log
log =-0,350,-u ]%+0,02log
Vo, M ] log'/ =log'' —-0,13
Sa Va La u,=(A\-550)/50
T ; L:M:S  Adaptation
"\ =4:2:3 L&M: 557
; \ 557:ty0'0
o\ Lo=095 La=1.34
: \ Vp=10 Va=1.0
1,

M@p=0.95 Mg=0.67
570, N\
L

=log +0,17

S0 =002 Sa =0.02

3 S u -3

-0,35u\-u ]
-0,350\-u- ]2
=log +0,17
=log’ +0,13

Siittigung V
L:M:S _/Eaptatlon
=4:2:3 L&M: 557
t=0.0

lin[Sattigung] log
logVo = 0,350~ Uss7> log
=-0,350,-u  ]%+0,02log
No, ' -No, INo] 109
Sa Ma La
'
1

2

1

)

1

1 “
04— = =

1

L}
[ I
LI |
548 1570
" 4

-7y 5 u -3

500 550 600rg/nm 700Ac 400

500 550 600xg/nm 700Ac 400




